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The figures in the margin indicate full marks
for the questions

1. (@) Write True or False of the following : 1x5=5

(i) Sachin scored 70 in science is not ;
an example of measurement.

(i) A valid test may not be reliable.

(i) The concept of Intelligence Quotient
(IQ) was first suggested by Alfred
Binet.

(iv) Rorschach Inkblot Test is @&
projective technique of assessing
personality.

(v) Anecdotal Record should not
contain the opinion of the record
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4. What is intelligence test? Name any three

individual intelligence tests. Differentiate

between individual intelligence test and

group intelligence test. 2+3+5=10
Or

tive technique of assessing
three characteristics

Explain Rorschach
perception Test

What is projec
personality? Write any

of projective _technique.
Inkblot Test and Thematic Ap

in brief. 2+3+5=10
5. Calculate quartile deviation from the
following distribution : 6
Class Interval Ij
45-49 g 2
40-44 3
35-39 2
30-34 17
25-29 30
20-24 25
15-19 15
10-14 3
5-9 2
04 1
N= 100
6. What is meant by measure of central
tendency? State any two advantages of
central tendency. 2+2=4
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7. Draw a cumulative frequency curve or og 4
from the following distribution :

Class Interyal

if
60-64 :
55-59 ;
50-54 7
45-49 2
4044 ;
35-39 /
30-34 %
25-29 8
20-24 ’
15-19 {/
10-14 3
S-9 :
0—4 :
N=60
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